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Ml‘-‘diea]
Stati&tirq.
= 401113,
: 113-3 Final Examenation & Model: A 16 - 4 - 1439 (wed)
1 Thﬂ cumumti"’e :

32. The mea jq equal to

A 36 B a7 C. 38.067 D. 39.629
33. The velue of y i

A. 46 B. 3 (. 14 D. 50
34. The valye of ¢ is:

A-23 B.54 C 41 p 52

35. The value of w js:
A. 31 B, 68 €. 37 D ey

36. The variance is equal to
A. 13808 B. 14.29 C, 106.12 D, 12.282

37. The standard deviation is equal to
A 103 B 1420 C. 13808 D. 12.282

38. The coefficient of variation is equal to
A. 18.76% B. 14.20% C. 28.6% D. 12.282%

Q.6 (1 point)
39. A study is to be performed to determine a certain parameter in a community. From a previous study
a sample error of up to 4 is to be accepted. the number of

a standard deviation of 23 was obtained. I
subjects should be included in this study at 99% level of confidence is

AS2TI R 124 S on] - D 213

Q.7 (5 points)
Suppose that Z is distributed according to the standard normal distribution. Use this information

to answer questions 40 and 44,
40. the mode of random variable Z is
@) o B 024 C 00925 D 02133

41. P(Z <0} =
A0 B.024 )05 D. 02133

42, P(0< Z < 0.67) =
@ 0.7486 B. 0.2486 C. 0.0925 D. 0.2133

43. P(Z > 0.67) =
@ 02514 B. 024 C.00925 D.0.2133

4. If P(Z < k) = 0.995 then k =

A. 02133 B.024 C. 00925 (D) 2.58

Q.8 (4 points):

A random sample of size n = 30 is taken from a population which has the normal distribution with
mean 8 and standard deviation 3. Use this information to answer questions 45 and 48.

Please go on to the next page...
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45. The median of variable X i
A3 B. 30 ik 8

D. 64
8. PraX<ty.

A. 0.2586 B, gog4

C. 0.0925 D, go133
47. P{X <9) =
A. 00925 B, 24 C. 06293 D. p.2133
48. P(X =8) = o

A. 0654 B. g94 C. 00925 D g

Q.9 }'3 l;‘;[ﬂtﬂ]i Let 7 the proportion of children who have not received vaccination in Riyadh, In
sampie o1 200 children taken from a school in Riyadh, we found that 37 have not received vaccination,
use a=0.05. Answer the questions 49-52.

49. The proportion in the sample is 1,:;) - 1;}2
A 024 B clilu_ga C. 007 D. p2133
t_}@:_.'cm:.f‘ 50. The point estimate for r is "TT o P (‘_l._:,—;:l.
A. 007 B. 024 (. 0.0925 D. 0.2133 ) Pr_?f
51. The upper limit confidence interval for 7 is @ 7] it P T Z i 3
A. 012 B. 024 C 00925 D. 0.2133 @ WI
52. The lower Timit confidence interval for s .67 2 i i =
A.012 B.024 C.006 D.o45 ___}ag;*?‘\“

Q.10 (8 points)

Among 150 African-American men, the mean systolic blood pressure was 146 mm Hg with a standard
deviation of 27. We wish to know if on the basis of these data. If we want to test the hypothesis that

the mean systolic blood pressure for a population of African-American is greater than 140, answer
————— i
the questions 53-60. Use a=0.05.

53. The null hypothesis is )2~
A.- Ho:p=140 B. Hy:p#140 C. Hy:p>140 D. Hp: < 140
R —
54. The Alternative hypothesis is
A. Hy:n=140 B. Hi:p#£140 C. Hi:p>140 D. Hy:p <140

65. The test statistic is

A z=118 B.z=2325 D. z =045

=
56. We reject Hy If Pl gyt

A ;;c"%z? B zn#z, C. R B o S
57. The decision is FBT

A. we reject Hy B. we reject Hy  C. we reject Hy and reject Hy D. we accept Hy and reject
Hy

58. The point estimate for 1 is S
A SIFRR 07 " @ ade 1954 SLe Lol

i (M=% )

Page 5 of 9 Please go on to the next page. ..

Xz |46







I',-”‘

Meq;
&
< Statiori, 4013
13-3
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Fuctiog, N
L
Only th Of
Angwe,
. FD:[‘ the . T“hrﬁ' in the firat Page wil| b id ) = '-\.-\"u;
tahle e gp falsg iestjg, ; considered. cfasg
; 18 fill the eirele A for true and fill the circle B for false in the answer R

uitiple- b © Cum
e questions, gy only the cirele in the Answer Table that corresponds to your
{ﬁ'equ
Use g caleulatop,
Pages far answer cllcckmg in the ond of the exam. Midapc
€ or Fa]
Be questio :hﬁl.# PL 3 _..5 -’L},-._.._w l(,__,.;h:'l.? i—
* Importang target questions should be asked in the first of the c-p!mon survey- Relap
is not affected ¢ sapdy ‘b _&,_‘.b. 4" S
00 much by extreme values, T-—a;n P“é o A &_‘,3 \‘3'\. pLY
, &ﬁﬁﬂntn::}m the same frequency, there is no mode. N0 thzjf’iw SE;"Q _____,,
that uses the nmdhn BS & point uf reference.
al dmtr'buﬂﬂn the ﬂwal:e the med.lan e d the modc a}&fﬁe;{ T— ave A
Iy ling scheme is 5 method of selecting sampling units s from samplmg frame ~ % -t ’Sﬂ_\c:}x PRCe ‘é. Me: f:
=l LI e '0
,P point esttn?im_t}_ 15 & single number used to approximate thﬂ true value of the parameter, [_,/ );‘;g
T —m— -
l 8. The standard normal dlsl:nbutlun is a sp case of the normal distribution with mean p = 1 and 7 Ts
'.*B.rm.ncei: E} Y_ Tﬂb;d @Jr& cals Cﬂip_—[;){_,wu .ra\h\rf_,;g.-.h\ 3 15
9. Alternative hypothesis 4 : It is a statement uf what we believe is true if our sample data canse us 6.,
Lo I‘E.]Et!l: the null hypothegm '—T'm,ﬂ S .c-\5"\_.\ TP ai\aaxi\e \_,"u; =33 ai,,...}.\wJF)\ 13 ¢
@ : t«h ﬁ-:\.-\pﬁ_,:;, Lie =1 154
Type I error occur when we rejecting H4 and Hy is true. L F B |
.
’o % B ! o
L-))“‘? )%m;w&mmmammﬁu;— u\S\;\ q._e__u_; m\;__{,“_,_l.._{‘ ey

. any
. 12. A good point ﬁhmate,ﬂ?aé,a&ﬁ) .r‘_z‘—’-\‘—f}'\ E‘y}b‘-"\".ﬁf \"J‘-\-"p\ ﬂ’\h’\ <
-'* 13. One of the advantages of sunple random sample is estimates are easy tG calculate, \
14. In simple random sample, if sampling frame is large, the method will be 1mpr&ctma.b[c®'/

* 15. Ome of the disadvantages of Eter sampling ‘fuli be statisticalty more efficient when the chuster ele-
ments are similar. ~|

74 16. Convenience sampling is often used during preliminary research efforts to get an estimate without
incurring the cost or time required to select a random sampte.

l?wm is a special nonprobability method u&ed when the dealrmmple characteristic is
Gad T

8. Cause-Specific Death Rate defined as the number of deaths assigned to a specific cause in a calendar
X year, divided by the population on July of that year

19. Umdeﬂuth:atedeﬂnedasthenumherofﬂveh::thamacalenduyea:,dmdedhythepnpmatmu
£ July 1 of that
W/M u.h' year

FEEE,
f\'r}'f“‘u\ 2 |
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ca e
lﬂtatmms: 401173 4 16 - 4 - 1439 (wed)
: ; . 4 - 1439 (wed)
2 ) __Fina] Examenation & Model: A b N
" Genory g, T rided by the number :
of Womep Agey ;rﬂ_l-\;ibe defineq 45 the numbey of live births in a calendar 5 3 7
o At Midyeq, 2 |
Q.2 (5 Points) ~Biselle g
e : questions 23-23. Fin@n the sample data -2, 61-__@—-—__ e
e : e 2 5
@, foh e
_Sampljg :c‘_a:ﬂ'a‘dt_ile data ig PR . R
i//@ Lolo TR R 13.33 A= A 1 :
- = # p———
22 The Sample nmﬂi‘fa.::: ‘c-f.r.he data, l@ @ -1 16, 'Ul\
A &8 B. 1 C. 95" D. 15 (mz 7 2
@ The Sample mode of the data is 15

~E® B 1g o, D. 20 a J/S“F R,
: Q.3 (2 points) In Questions 24-25: For the sample data 6, ,.:;'.5’ dede LISL b L%
@The sample range of the data is (é"’u?) * {‘ 3 -
As B EES NeW @ e A ho i
( 25,) The sample f the data is \ ‘5 g
Ridd TR o s hib \1—’2? TN &
i — :
Q-4 (1 points) =2.5 2

28. During calendar year 2006 the
year. there are 15,231 total d

- e =l f
Population for New Mexico city was 2,010,787 estimated in 2006 mid ‘
caths in New Mexico. The Crude death rate is _.
A. 757.46 deaths per 100,000  B. 655.33 deaths per 100,000  C. 123,67 deaths per 100,000
b. 439298 deaths per 166,000

Q.5 (12 points): Using

The following Table shows
week :

the Table below, answer the questions 27-38,

the ages of 50 patients seen in the emergency room of a hospital during a

Age(years) | Frequency (f;) [ mid — point () Cumulative Frequency | m; x fi | mi;gfi l\
10 —18 3 14 3 42 '
f’ & ST 11 192 4608 |
] 20, U w 680 | 23120 |
[ L 44 5 616 | 27104
[ T ) oS 270 | 14580
DAY, Oy S
; LA 8 A %’ %
27. The true class interval for the mxs. e o
A. 1929 B 2939 C. 3049 D 2940 7
28. The appropriate graph is:
A. pie chart @histngmm C. bar chart D. stem and leaf
29. The relative frequency for the second class interval is: ;‘B_:_' =0 % e
A. 016 B. 024 C. 0334 D. 02133 So
30. The percentage frequency for the third class interval is: ".._.;3
A. 16% B. 24% (C)40% D. 32% '
Puge 3 of 9 Please go on to the next page...
W : 4 e R N e s o
g . :


http://www.tcpdf.org

